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@ Institutions dislike high idiosyncratic volatility (as
well as uncertainty and disagreement)

@ Shleifer and Vishny (1997) argument - portfolio
managers are underdiversified and face the
probability of margin calls and fund outflows

@ Institutions also dislike low Vol

@ Low IVol means high aggregate volatility risk
@ Institutions have comparative advantage in acquiring
and processing information



Low | IVol2 1VoI3 IVol4 | High | H-L

Low | 0.009 | 0.013 0.016 0.021 | 0.033 | 0.023
tstat| 320 | 329 366 352 | 31.6 | 29.1
Inst2 | 0.009 | 0.013 0.017 0.021 | 0.031 | 0.022
tstat| 31.2 | 354 374 359 | 326 | 29.8
Inst3 | 0.010 | 0.013 0.016 0.020 | 0.028 | 0.018
tstat| 323 | 357 372 364 | 31.7 | 28.6
Inst4 | 0.011 | 0.014 0.016 0.020 | 0.026 | 0.015
t-stat | 34.1 34.8 365 348 | 306 | 25.2
High | 0.012 | 0.014 0.016 0.019 | 0.026 | 0.014
tstat| 33.7 | 335 353 34.1 | 298| 239
L-H | -0.002 | -0.001 0.000 0.001 | 0.007 | 0.009
t-stat | -719.6 | -5.96 262 124 | 27.5 | 28.3

1-5 -18% | -4% 2% 8% | 28% | 65%




Low [IVol2 1VoI3 1IVol4 High | H-L

Low 0.009 0.013 0.016 0.021 0.033 | 0.023
t-stat 320 329 366 352 31.6 | 29.1
Inst2 0.009 0.013 0.017 0.021 0.031 | 0.022
t-stat 371.2 354 374 359 326 | 29.8
Inst3 0.010 0.013 0.016 0.020 0.028 | 0.018
t-stat 323 357 372 364 31.7 ) 286
Inst4 0.011 0.014 0.016 0.020 0.026 | 0.015
t-stat 34.17 348 365 348 306 | 252
High 0.012 0.014 0.016 0.019 0.026 | 0.014
t-stat 33.7 335 353 341 298| 23.9
L-H -0.002 -0.001 0.000 0.001 0.007 | 0.009
t-stat -719.6 -596 262 124 275 | 28.3

1-5 -18%  -4% 2% 8% 28% | 65%




@ Low IO firms include the two types of firms institutions
flee - very low IVol and very high 1Vol

@ Itis not surprising that the relation between Vol and
future returns is stronger for low 10 firms

@ Sorting on Vol in low 10 subsample creates a larger
Vol spread

@ The story works if | replace Vol with MB, or Turnover,
or Disagreement

@ We already know aggregate volatility risk explains all
these anomalies

@ It should also explain why they are stronger for low 10
firms



Low [IVol2 [Vol3 IVol4 High | H-L

Low -0.771 -1.350 -1.100 -0.560 1.382 | 2.153
t-stat -4.81 -10.11 -7.71 -282 6.03 | 6.92
Inst2 -0.888 -1.039 -1.023 -0.814 0.880 | 1.768
t-stat -6.86 -6.60 -513 -3.64 369 | 747
Inst3 -1.258 -1.445 -1.331 -0.961 0.062 | 1.320
t-stat -8.71 -801 -800 -3.92 027 | 547
Inst4 -1.401 -1.618 -1.612 -1.522 -0.620 | 0.781
t-stat -741 -9.15 -6.35 -4.78 -1.82 | 2.51
High -1.650 -1.685 -1.705 -1.809 -0.695 | 0.955
t-stat -7.84 -946 -7.09 -573 -2.16 | 2.69
L-H 0.879 0.335 0.606 1.249 2.077 | 1.198
tstat 339 1.68 248 341 4.79 | 2.61




Low [IVol2 [Vol3 IVol4 High H-L

Low -0.771 -1.350 -1.100 -0.560 1.382 2.153
t-stat -4.81 -10.11 -7.71 -2.82 6.03 6.92
Inst2 -0.888 -1.039 -1.023 -0.814 0.880 1.768
t-stat -686 -660 -513 -3.64 369 747
Inst3 -1.258 -1.445 -1.331 -0.961 0.062 1.320
tstat -871 -801 -8.00 -392 027 547
Instd -1.401 -1.618 -1.612 -1.522 -0.620 0.781
t-stat -7.41 -9.15 -6.35 -4.78 -1.82 251
High -1.650 -1.685 -1.705 -1.809 -0.695 0.955
t-stat -7.84 -946 -7.09 -573 -2.16 2.69
L-H 0879 0335 0606 1.249 2077 1.198
t-stat 339 1.68 248 341 479 261




High 10 firms have higher future returns (Gompers and
Metrick, 2001) - stock picking ability?

The link between 10 and future returns is stronger for
growth firms, small firms, etc.

In high Vol subsample, institutions ignore the firms with
the most positive FVIX betas

Hence, going high 10 minus low IO in high IVol subsample
means high exposure to aggregate volatility risk

In low Vol subsample, institutions should ignore firms
with the most negative FVIX betas

Hence, going high 10 minus low IO in high IVol subsample
means negative (or at least low) exposure to aggregate
volatility risk



@ |0 is for each stock is the sum of all institutional
holdings from 13F over shares outstanding from
CRSP

@ Firms in the NYSE/AMEX bottom size quintile
dropped

@ If 13F holdings are missing, 1O is setto 0

@ | use Residual IO to control for the size effects,
as in Nagel (2005)

Yo+71-109(Size)+2-log?(Size)+ ReslO

/O
" Alexander Barinov (Terry College) [ L e e



@ FVIX mimics daily changes in VIX

@ The correlation between FVIX and the change in
VIXis 0.53

@ Negative FVIX beta is volatility risk (losing
money when volatility increases)

@ FVIX factor loses 1% per month, t-statistic -4.35
- FVIX hedges against volatility risk and has
negative market beta

@ CAPM alpha of FVIX is -56 bp per month,
t-statistic -3.0
" Alexander Barinov (Terry College) [ L e



Low Inst2 |Inst3 Inst4 High H-L

acapy 1516 1.048 1.019 0.937 0.936 | 0.581
t-stat 3.71 33 326 323 288 227
O ICAPM 0.563 0.409 0.449 0.350 0.321 0.242
t-stat 2.03 1.64 1.90 1.69 1.40 0.96
Bryux  -1.690 -1.132 -1.011 -1.040 -1.090 | -0.599
tstat -6.67 -521 -668 -7.78 -8.09 | -2.29

arr 0795 0508 0420 0.311 0.259 | 0.536
tstat 299 211 195 165 123 | 237
arrs 0556 0.378 0423 0.284 0.198 | 0.358
tstat 222 153 185 152 098 | 1.59
Bryux  -1.859 -1.013 0.020 -0.205 -0.477 | -1.382
t-stat 410 -2.54 0.06 -048 -1.43 | -2.31




Low Inst2 |Inst3 Inst4 High H-L

acapy  1.183 0516 0.255 0.032 -0.045 | 1.228
tstat 306 1.61 088 012 -0.19| 4.27
aucarm  0.087 -0.432 -0.665 -0.679 -0.594 | 0.681
t-stat 032 -1.68 -261 -3.00 -249 | 3.60
Brux -1.943 -1.679 -1.630 -1.260 -0.973 | -0.969
t-stat -14.8 -126 -10.2 -133 -10.2 | -8.59

arr  0.644 0.078 -0.194 -0.285 -0.269 | 0.913
tstat 287 041 -1.16 -1.64 -1.45| 4.55
arrs 0332 -0.196 -0.392 -0.405 -0.357 | 0.688
t-stat 1.65 -1.14 -269 -256 -2.00 | 3.41
Bryx -2.426 -2.128 -1.543 -0.934 -0.681 | -1.745
tstat -7.20 -7.66 -538 -3.17 -2.30 | -4.13




Low Inst2 |Inst3 Inst4 High H-L

acaey 1.616 1.845 1.022 0.939 0.617 | 1.000
t-stat 457 503 350 421 261 | 3.29
acapn 0.713  0.998 0.325 0.521 0.249 | 0.464
tstat 287 390 161 28 127 | 1.89
Bryx  -1.601 -1.501 -1.235 -0.740 -0.652 | -0.949
t-stat -154 -11.4 -13.1 -541 -3.71 | -5.08

arr  1.049 1.327 0543 0.582 0.250 | 0.799
tstat 397 482 269 312 130 | 3.10
arrs 0760 0.999 0.364 0.561 0.274 | 0.486
tstat 3.03 384 185 290 142 | 2.06
Bryx  -2.247 -2.556 -1.391 -0.160 0.188 | -2.435
tstat -6.24 -541 -350 -0.41 0.48 | -5.98




Low Inst2 |Inst3 Inst4 High H-L

acary  1.096 0.643 0547 0595 0.631 | 0.465
tstat 361 251 231 288 268 | 1.83
aucarm 0458 0.159 0.150 0.327 0.437 | 0.020
tstat 1.88 054 059 139 167 | 0.10
Brux -1.131 -0.858 -0.703 -0.475 -0.343 | -0.788
t-stat -7.91 427 -548 -3.92 -2.10| -8.17

arr  0.834 0526 0471 0.601 0.692 | 0.142
tstat 334 215 206 293 3.00 | 0.70
arrs 0466 0.236 0.230 0.387 0.547 | -0.081
tstat 224 1.10 1.12 202 239 | -0.38
Bryx -2.863 -2.254 -1.880 -1.663 -1.133 | -1.730
tstat -7.87 -523 -522 -581 -4.01 | -4.30




Low | Inst2 Inst3 Inst4 | High | H-L

ocapm | -0.318 | -0.105 0.181 0.223 | 0.179 | 0.497
t-stat | -1.79 | -0.62 1.07 1.15 ] 0.80 | 2.33
OFF -0.250 | -0.199 0.046 0.016 | -0.003 | 0.247
tstat | -252 | -265 058 0.17 ] -0.03 | 1.70

O ICAPM 0.067 0.095 0.284 0.243 0.209 0.142
t-stat 036 050 1.54 1.23 097 1.10
Brux 0.682 0.354 0.182 0.035 0.053 -0.628
t-stat 6.10 484 242 045 0.55 -4.99
arrs -0.156 -0.173 -0.024 -0.097 -0.169 -0.013
t-stat -1.59 -2.04 -031 -1.08 -1.63 -0.11
Bryux 0727 0.199 -0.547 -0.883 -1.293 -2.020
t-stat 4.56 1.06 -3.26 -435 -7.94 -7.81




Low Inst2 |Inst3 Inst4 High H-L

acary  -0.318 -0.105 0.181 0.223 0.179 | 0.497
tstat -1.79 -062 1.07 1.15 080 | 233
cucapy  0.067 0.095 0.284 0.243 0.209 | 0.142
tstat 036 050 154 123 097 | 1.10
Brux 0.682 0.354 0.182 0.035 0.053 | -0.628
tstat 6.10 484 242 045 055 | -4.99

arr 0250 -0.199 0.046 0.016 -0.003 | 0.247
tstat -252 -265 058 0.17 -0.03| 1.70
arrs  -0.156 -0.173 -0.024 -0.097 -0.169 | -0.013
t-stat -1.59 -2.04 -031 -1.08 -1.63 | -0.11
Bryx 0727 0.199 -0.547 -0.883 -1.293 | -2.020
t-stat 456 1.06 -3.26 -4.35 -7.94 | -7.81




@ |0 is positively related to future returns not
because institutions buy the stocks that
subsequently perform well

@ Rather, they just ignore the stocks that
subsequently perform poorly

@ The difference in performance can be explained
by aggregate volatility risk

@ Stocks ignored by institutions have high Vol -
hence low aggregate volatility risk and low
expected return



Value MB2 MB3 MB4 Growth 5-1

acapm  0.354 0444 0474 0525 0.935 | 0.581
tstat 201 229 274 247 405 | 227
aicapy 0205 0235 0.298 0.208 0.448 | 0.242
tstat 098 140 168 1.08 255 | 0.96
Bryx -0.263 -0.370 -0.313 -0.562 -0.863 | -0.599
tstat -1.74 -4.11 -3.07 -3.88 -501 | -229
arr  0.168 0.294 0.380 0.339 0.704 | 0.536
tstat 091 1.70 218 1.77 397 | 237
arrs  0.066 0.112 0.193 0.118 0.424 | 0.358
tstat 035 069 1.15 064 220 | 1.59
Bryx  -0.799 -1.419 -1.454 -1.719 -2.181 |-1.382
tstat -283 -657 -758 -6.18 -4.79 | -2.31




Low [Vol2 [VoIl3 [Vol4 High 5-1

acapy  -0.053 -0.103 0.154 0.233 1.176 | 1.228
tstat -037 -093 1.15 1.38 387 | 4.27
tstat -0.72 -1.17 083 081 347 3.60
Bryx  0.062 -0.035 -0.085 -0.223 -0.907 | -0.969
t-stat 085 -058 -092 -258 -6.68 | -8.59
OFF -0.056 -0.146 0.079 0.154 0.857 | 0.913
t-stat -041 -141 067 1.08 394 4.55
arFs  -0.171 -0.220 -0.023 -0.007 0.518 | 0.688
tstat -17.35 -215 -021 -0.06 2.78 3.41
Brux -0.895 -0.575 -0.792 -1.253 -2.641 | -1.745
t-stat -448 -400 -395 -489 -781 | -4.13




Low Turn2 Turn3 Turn4 High 5-1

acapy  0.144 0468 0.280 0.633 1.143 | 1.000
tstat 089 201 1.09 224 366 | 3.29
aucarm 0.095 0.1917 -0.103 0.020 0.559 | 0.464
tstat 056 089 -042 0.09 278 | 1.89
Bryx  -0.087 -0.490 -0.679 -1.087 -1.036 | -0.949
tstat -1.11 469 -3.10 -6.32 -623| -5.08

arr  0.011 0.215 0.037 0.255 0.810 | 0.799
tstat 0.08 098 0.16 1.18 353 | 3.10
arrs  -0.040 0.002 -0.264 -0.069 0.446 | 0.486
t-stat -026 0.01 -1.26 -0.33 219 | 2.06
Bryux  -0.397 -1.659 -2.342 -2.517 -2.832 | -2.435
t-stat -241 -7.04 -6.84 -7.85 -7.03| -5.98




Low Disp2 Disp3 Disp4 High 5-1
acapy -0.138 -0.148 0.139 -0.030 0.327 | 0.465
tstat -085 -091 0.70 -0.12 1.15 1.83
acapy -0.233 -0.161 0.060 -0.297 -0.213 | 0.020
tstat -7.60 -1.19 034 -1.52 -1.24 | 0.10
Bryx -0.169 -0.023 -0.141 -0.472 -0.957 | -0.788
t-stat -1.57 -0.19 -1.04 -3.51 -885 | -8.17

arr  -0.176 -0.155 0.040 -0.242 -0.034 | 0.142
t-stat -1.14 -1.10 024 -1.23 -0.17 | 0.70
arFs  -0.321 -0.303 -0.142 -0.481 -0.402 | -0.081
t-stat -2.13 -224 -084 -2.62 -2.54| -0.38
Bryx 1127 -1.152 -1.421 -1.853 -2.857 | -1.730
t-stat 460 -4.91 -4.34 -4.45 -8.12 | -4.30




@ |0 effect (almost) monotonically increases with
uncertainty measures

@ Are institutions more able to pick stocks with
high uncertainty?

@ Not likely - the result comes primarily from the
deterioration in the performance of low IO stocks

@ FVIX explains most of the increase of the IO
effect with uncertainty



Low [IVol2 [Vol3 IVol4 High | H-L

Low -0.771 -1.350 -1.100 -0.560 1.382 | 2.153
t-stat -4.81 -10.11 -7.71 -282 6.03 | 6.92
Inst2 -0.888 -1.039 -1.023 -0.814 0.880 | 1.768
t-stat -6.86 -6.60 -513 -3.64 369 | 747
Inst3 -1.258 -1.445 -1.331 -0.961 0.062 | 1.320
t-stat -8.71 -801 -800 -3.92 027 | 547
Inst4 -1.401 -1.618 -1.612 -1.522 -0.620 | 0.781
t-stat -741 -9.15 -6.35 -4.78 -1.82 | 2.51
High -1.650 -1.685 -1.705 -1.809 -0.695 | 0.955
t-stat -7.84 -946 -7.09 -573 -2.16 | 2.69
L-H 0.879 0.335 0.606 1.249 2.077 | 1.198
tstat 339 1.68 248 341 4.79 | 2.61




— 2CAPM | 2CAPM 1f 1f

AVIX FVIX AVIX FVIX
Inst -0.021 | -0.416 -0.028 -0.146
t-stat -4.31 -5.58 -7.28 -9.67
Inst MB -0.014 | -0.406 -0.021 -0.144
t-stat -1.65 | -4.04 -2.74 -4.45
Inst Vol 0.007 | -0.742 0.063 0.317
t-stat 0.49 -4.60 4.07 7.10
Inst Turn | -0.071 | -0.894 -0.011 0.254
t-stat -6.51 -6.86 -1.18 5.41
Inst Disp | -0.035 | -0.673 -0.001 0.114
t-stat -4.27 | -8.01 -0.13 4.10




Rec Exp Diff
Inst 0.120 -0.074 ] 0.194
t-stat 4.24 -1.92 | 4.33
InstMB -0.066 -0.117 | 0.051
t-stat -4.49 -8.17 | 2.65
Inst Vol -0.142 -0.386 | 0.244
t-stat -6.57 -9.80 | 5.65
Inst Turn -0.024 -0.448 | 0.424
t-stat -0.47 -5.84 | 4.86
Inst Disp -0.041 -0.213 | 0.172
t-stat -2.91 -13.85]| 8.39




@ Institutions prefer medium volatility (turnover,
disagreement, market-to-book)

@ Sorting on these variables in low IO group creates a
larger spread in their values

@ Hence, sorting on these variables in low IO group
creates a larger spread in FVIX betas

@ Controlling for aggregate volatility risk explains most
of the link between the anomalies and 10

@ The aggregate volatility risk story is supported by
loadings on VIX changes and by conditional CAPM
betas



@ |0 effect is not due to stock picking ability of institutions -
all they do is avoid the future "losers"

@ |0 is negatively correlated with aggregate volatility risk,
because on average institutions are averse to volatility

@ Aggregate volatility increase also explains why 10 effect is
high when uncertainty is high

@ Better stock picking in a volatile environment is not an
explanation again - 10 effect is high when uncertainty is
high because low 10 stocks have more negative alphas
as uncertainty increases

@ The aggregate volatility risk story is supported by
loadings on VIX changes and by conditional CAPM betas
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